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Right Angles & Trigonometry

Medium
(1) 902dc959 ” MULTIPLE CHOICE “ [O nnnnnnnnnn ly]
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In the figure above, what is the value of tan(A) ?
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(2) de550beO ” MULTIPLE CHOICE “ [Onc answer only]
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Note: Figure not drawn to scale. 'l
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For the triangle shown, which expression represents the value of a ?
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(3) bf8d843€ ” MULTIPLE CHOICE “ [Onc an:

swer on

ly]

S (0) = Co5C90-4)

8

i
30° 2
05 >
N\ A,
In AABC above, what is the length of AD ?
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(4) abaeel81 ” MULTIPLE CHOICE H [Onc answer only]

The length of a rectangle’s diagonal is 5v/17, and the length of the
rectangle’s shorter side is 5 . What is the length of the rectangle’s
longer side?
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In the right triangle shown above, what is the length of PQ ?
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